
 

 

Hoja 5.3                                    Matemáticas 4º ESO                                      © FerMates 
Ecuaciones de 2º grado 
  Resuelve las siguientes ecuaciones: 
 
1.-  0252 =−x  
 
2.- 022 =−x  
 
3.- 0362 =+x  
 
4.- 602 =x  
 

5.- 
x

x 12

4
=  

 
6.- 0162 =−x  
 
7.- 03 2 =x  
 
8.- 9252 =+x  
 
9.- 2592 =+x  
 
10.-  854 2 =+x  
 
11.- 20162 =+x  
 
12.- 0253 2 =−x  
 
13.- 732 2 =+x  
 
14.- 418 2 −=− x  
 
15.- 2433 2 =+x  
 
16.- 40405 2 =−x  
 
17.- 40405 2 =+x  
 
18.- 0243 2 =−x  
 
19.- 035 2 =+ xx  
 
20.- 082 =+ xx  
 
21.- 084 2 =− xx  
 
22.- 0405 2 =+x  
 


